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Re-Imagination of learning

Time: : -

Look at the prices of the objects. Then solve the problems.
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Cap 1 Cent JAMT i

Pineapple 1 Cent
Wrist watch

% Juice = 2 Cents

= o ‘%1 Teddy bear
=223 Pizza 5 Cents QRO
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25 Cents

5 Cents

25 Cents

/

1. How much will you pay for 1 pizza and 1 teddy bear?

2. How much will you pay for 1 cap and 1 juice?

3. How much will you pay for 1 wrist watch and 2 caps.

4. How much will you pay for 1 fruit jam and 1 teddy bear?

5. How much will you pay for 1 pizza and 1 pineapple?

6. How much will you pay for 1 teddy bear and 1 juice?

7. How much will you pay for 2 pizza and 1 teddy bear?

8. How much will you pay for 3 juices and 3 pizza?
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